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WORKED EXAMPLE
In this worked example where the Aurum Survey is referred to it relates to a survey published in PRWeek in April 2008

http://www.prweek.com/uk/news/article/803012/Agency-Management-So-admin-so-little-time/
Assumptions
Productive working hours

1. The majority of process related work is performed by staff at Account Executive and Account Manager level.

2. The cost per staff member (including overheads) of these staff levels is 75% of the average cost per head of £80,000-£90,000 i.e. approx £62,500.
3. Productive hours available

a) The number of available working days per staff member allowing for holidays, sickness and training is 220.
b) Productive time is 80% of available time – allowing for business development activity and general downtime.
c) Assume a “working day” (i.e. the time that an employee spends at work) is 10 hours allowing for overtime worked. Ref: Aurum survey 
d) This gives 1,760 hours productive hours available (220 x 10 x 0.8).
e) This in turn gives a cost per productive hour of around £35.50 (62,500/1,760)
Over servicing

4. Overservicing runs at 66%. This represents the weighted average of the Aurum survey responses. 
5. This means that the agency would be able to charge for 1,060 of the productive hours (1,760/1.66).
Charge out rates

6. Charge out rates of £400 and £500 per 7 hour chargeable day have been assumed. The lower rate is used for lower added value activities e.g. press release distribution and the higher rate is used for higher added value activities.
Press release processes

7. According to the Aurum’s survey it takes on average:

a) 2 hours to build a media list

b) 4 hours to distribute a press release
c) 4 hours to produce a media coverage report. 
For the purpose of this analysis the time to draft and agree the release itself has been ignored (though the process time here could be potentially reduced as well through the use of collaboration tools such as Huddle).

8. An outsourced provider could carry out the majority of the work in item 7 above at a fixed cost of £200.
9. The resulting reduction in this time per release due to use of the outsourced provider is 10 hours to two by handling the majority of the list maintenance, distribution, tracking, evaluation and reporting of the release. 
The two hours would be for:

· Submission of the release by personal email to key contacts
· Submission to the outsourced provider

· Retrieval, collation and analysis of the results from the provider

· Inclusion of any other relevant coverage and discussion.
Results - Example of outsourcing impact - Press Release distribution, monitoring, evaluating and reporting

Scenario 1 – no reduction in staff working hours (Spreadsheet tab No.1)

Income per release. All processes carried out in-house
Firstly consider the situation of an agency that is only managing to charge £400 per day on average for account executives/account managers i.e. the lower day rate as the majority of their time is spent on process related tasks.
Allowing for over servicing at 66% this gives approximately 6 chargeable hours.

At £400 per 7 hour day this gives income of £344 (6/7 x £400).
The cost of the 10 hours at our £35.50/hour rate is therefore £355. 

The agency is effectively losing £11 on this activity.
Income per release. Creation in-house; processes outsourced

Now let us assume that the agency has outsourced the majority of the process as detailed in 9 above.
The cost is now £271 - £200 for the outsourced provider and £71 for two hours of the team member’s time (2 x £35.50). 
A saving of £84 or around 24%. 
Income has not changed as the activity is still being fulfilled.
Income benefits from outsourcing

At the same time the staff member is now free to use the remainder of the day for more added value work that is more likely to achieve the higher day rate of £500. 
Again allowing for overservicing this gives additional income of £344 for the remainder of the day 
(10-2)/1.66 = 4.8 hours chargeable hours

4.8/7 x 500 = £344
In fact one might argue that the need to over service should be lessened by the quality of the work, which could increase the potential value to be generated.
Income after the cost of the distribution service is therefore £488 (£344+£344-£200). This compares with £344 before. 
An increase of £144 or 42%.
Annualised benefit

If this effect is multiplied up for the equivalent of one staff member (assuming the agency is producing sufficient press releases) it results in an overall increase in net income (i.e. after the outsource provider cost) to the agency of £25,385 per annum and a resulting margin of 27%. 
Scenario 2 – reduction in staff working hours (Spreadsheet tab No.2)

Some of the benefit could be shared with the staff member themselves.

All other assumptions have remained the same.

In this scenario the number of hours expected to be worked per day has been reduced from 10 hours to nine hours a day.

This would still give additional income, allowing for overservicing of £301.

Net income of £101 and a resulting increase in annual net income of £17,812 per annum and margin of approximately 20%.
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